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Question 1
Question Type: MultipleChoice

Which two statements are true about recovering logically corrupted tables or table partitions from an RMAN backup?

Options: 
A- Tables or table partitions can be recovered by using an auxiliary instance only.

B- Tables or table partitions with a foreign key cannot be recovered.

C- Tables or table partitions can be recovered only when the database is in mount state.

D- Tables or table partitions from the system and sysaux tablespaces cannot be recovered.

E- Tables with not null constraints cannot be recovered.

Answer: 
A, D

Question 2
Question Type: MultipleChoice



Identify three scenarios in which RMAN will use backup sets to perform active database duplication.

Options: 
A- when the duplicate ... from active database command contains the section size clause

B- when you perform active database duplication on a database with flashback disabled

C- when you specify set encryption before the duplicate ... from active database command

D- when the number of auxiliary channels allocated is equal to or greater than the number of target channels

E- when you perform active database duplication on a database that has readonly tablespaces

Answer: 
A, C, D

Question 3
Question Type: MultipleChoice

Examine the RMAN command: RMAN> RUN { ALLOCATE CHANNEL c1 DEVICE TYPE sbt; ALLOCATE CHANNEL c2 DEVICE TYPE

sbt; ALLOCATE CHANNEL c3 DEVICE TYPE sbt; BACKUP INCREMENTAL LEVEL = 0 (DATAFILE 1,4,5 CHANNEL c1) (DATAFILE



2,3,9 CHANNEL c2) (DATAFILE 6,7,8 CHANNEL c3); SQL 'ALTER SYSTEM ARCHIVE LOG CURRENT'; } Which statement is true

about the command?

Options: 
A- It uses multisection backup.

B- It uses parallelization for the backup set.

C- It uses asynchronousI/O for the backup.

D- It creates compressed backup sets.

Answer: 
B

Question 4
Question Type: MultipleChoice

What is the effect of specifying the "ENABLE PLUGGABLE DATABASE" clause in a "CREATE DATABASE" statement?



Options: 
A- It will create a multitenant container database (CDB) with only the root opened.

B- ItwillcreateaCDBwithrootopenedandseedreadonly.

C- It will create a CDB with root and seed opened and one PDB mounted.

D- It will create a CDB that must be plugged into an existing CDB.

E- ItwillcreateaCDBwithrootopenedandseedmounted.

Answer: 
B

Question 5
Question Type: MultipleChoice

Choose two You upgrade your database from pre-12c to a multitenant container database (CDB) that contains pluggable databases

(PDBs). Examine the query and its output: SQL> SELECT * FROM v $PWFILE_users; USERNAME SYSDB SYSOP SYSAS SYSBA

SYSDG SYSKM CON_ID ------------------------------------------------------------------------SYS TRUE TRUE FALSE FALSE FALSE FALSE 0

Which two tasks must you perform to add users with the SYSBACKUP, SYSDG, and SYSKM prileges to the password file?



Options: 
A- Re-create or migrate the password file to the Oracle Database 12c format

B- Grant the SYSBACKUP, SYSDG, and SYSKM privileges to the intended users.

C- Copy the password file from a sample file in the DBS dierectory

D- Assign appropriate operating system groups to SYSBACKUP, SYSDG, and SYSKM.

Answer: 
A, B

Question 6
Question Type: MultipleChoice

Examine the query and its output executed In an RDBMS Instance: Which three statements are true about the users (other than sys) in

the output?

Options: 
A- TheC# # B_ADMIN user can perform all back up and recovery operation susing RMAN only.



B- The C # # C_ADMIN user can perform the data guard operation with Data Guard Broker.

C- The C # # A_ADMIN user can perform wallet operations.

D- The C # # D_ADMIN user can perform backup and recovery operations for Automatic Storage Management (ASM).

E- The C # # B_ADMIN user can perform all backup and recovery operations using RMAN or SQL* Plus.

Answer: 
B, D, E

Question 7
Question Type: MultipleChoice

You upgraded your database from pre-12c to a multitenant container database (CDB) containing pluggable databases (PDBs). Examine

the query and its output: Which two tasks must you perform to add users with SYSBACKUP, SYSDG, and SYSKM privilege to the

password file?

Options: 
A- Assign the appropriate operating system groups to SYSBACKUP, SYSDG, SYSKM.



B- Grant SYSBACKUP, SYSDG, and SYSKM privileges to the intended users.

C- Re-create the password file with SYSBACKUP, SYSDG, and SYSKM privilege and the FORCE argument set to No.

D- Re-create the password file with SYSBACKUP, SYSDG, and SYSKM privilege, and FORCE arguments set to Yes.

E- Re-createthepasswordfileintheOracleDatabase12cformat. Correct

Answer: 
B, D
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